IT Mount - Universal VESA mount s« swro: e COI’T‘IDU|OC|(S

Assembly Instructions

IDENTIFY THE FIXING AREA,
AND CLEAN
WITH ALCOHOL PADS PROVIDED
£ 203.2mm >
e
. PEEL COVER
I | TO EXPOSE
i A ADHESIVE PAD
i PEEL COVER
| O“ I s TO EXPOSE ‘ L
i 127mm ADHESIVE PAD
I ! l
1 |
i i
{2 e i i oo s g S
q
W A

»~ INSTALL MOUNT,
CENTERED
ON THE CLEANED AREA

RISE POLE STAND SHOWN

ACHIEVES FULL STRENGTH REMOVE MOUNT FROM DEVICE INSTALL MOUNT ON
AFTER 12 HOURS BY REMOVING M4 PIN TORX SCREWS ANY 100mm VESA COMPATIBLE STAND OR ARM
USING PROVIDED T-15 SCREWDRIVER USING PROVIDED M4x10mm PHILLIPS PAN HEAD SCREWS

©Compulocks Brands Inc. All Rights Reserved. www.compulocks.com | online@maclocks.com | +1 800-948-0344 Sheet 1 of 3



IT Mount - Universal VESA mount s« swro: — compulocks

Assembly Instructions

ROUTE POWER CABLE ATTACH POWER CABLE
THROUGH MOUNT TO DEVICE
AND STAND

RE-ATTACH DEVICE TO MOUNT

= &=
WITH M4 PIN TORX SCREWS

USING PROVIDED T-15 SCREWDRIVER

IT MOUNT CAN FIXTO ANY

LAPTOP OR TABLET i S

IT MOUNT IS COMPATIBLE WITH ANY
100mm VESA STAND, ARM OR MOUNT

©Compulocks Brands Inc. All Rights Reserved. www.compulocks.com | online@maclocks.com | +1 800-948-0344 Sheet 2 of 3



IT Mount - Universal VESA mount s« swro: — compulocks

Assembly Instructions

Compatible With All Compulocks’ Stands

L
, -

3 NV 3
X\

©Compulocks Brands Inc. All Rights Reserved. www.compulocks.com | online@maclocks.com | +1 800-948-0344 Sheet 3 of 3



Swing Arm s sozs
Assembly Instructions

& compulecks
LOVEIT LOCK IT

Wall Mounting - Wood Stud

*L‘R"“ S 275"
i 69.85mm
¥
DRILL 2 Holes fﬂ""
@157 X 21/2" DEEP »t
M4 X 63.5mm DEEP
CENTERED ON STUD ’r/’//__ﬂf—;u

Wood Stud Istallation

INSTALL SCREWS PROVIDED
#14 X 21/2” PHILIPS PAN HEAD
SHEETMETAL SCREW, 2 PLACES

Hinge Adjustment
f__S}FiiTL—:}

STEP 2
AFTER CORRECT TENSION IS ACHIEVED
TIGHTEN SET SCREW
WITH WRENCH PROVIDED
DO NOT OVER TIGHTEN

©Compulocks Brands Inc. All Rights Reserved.

STEP1
ADJUST LARGE HINGE SCREW
TO DESIRED TENSION OF ARM

" WITH WRENCH PROVIDED

www.compulocks.com | online@maclocks.com | +1 800-948-0344

STEP1
ADJUST LARGE HINGE SCREW
TO DESIRED TENSION OF ARM
WITH WRENCH PROVIDED

STEP 2
AFTER CORRECT TENSION IS ACHIEVED
TIGHTEN SET SCREW
WITH WRENCH PROVIDED
DO NOT OVER TIGHTEN

Sheet1of 2



Swing Arm s e & compulecks

Assembly Instructions LOVE ITLOCK IT

Tilt Adjustment Enclosure Installation

~ S —
ADJUST TILT TENSION SCREW ____::A_bd___—_:__a—_——*_f
TO DESIRED TENSION —
WITH WRENCH PROVIDED

USE M4 X 8mm SCREWS PROVIDED
TO INSTALL ENCLOSURE

Installation Complete Monitor Mounting
IF MOUNTING A MONITOR
REMOVE M4 PRESS IN NUTS

HARDWARE FOR MOUNTING THE MONITOR
IS NOTINCLUDED

©Compulocks Brands Inc. All Rights Reserved. www.compulocks.com | online@maclocks.com | +1 800-948-0344 Sheet 2 of 2



	IT Mount instructions combined
	Swing Arm instructions Combined (3)

